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3-Phase Circuits
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Balanced 3-Phase System

Eya = E /o’

EC&JZEM

(5




- ZtZe X
Ecpf L (%*Z&) - Ic, _ Eg :-Lé_

gj‘nq -‘C:Cl’h,. rﬂ_,mgr oL Mnnao{; \

A y4
d-n <
— — — kZ % 0‘
_f’;, 1 L are also Mancmf, VR
’ , \ E’c»'
(N N

L - v'wV@L {
b - T oo
od Lt4LTT =0 \ 4 2R
=
ﬂc'f\,w/"
_La\ — _7;1 —o WMo Crwef ‘ E + ZK C,)
74«»0 b ( j

/ . / . W

\ 30



.
Z.Fﬂe*%a— Line l/é/hfe_ ”gj i:j
T




AT 2 | 2
[V = [0l (2ot |Gl = 11
} = =
- N\ / — [/ /s © e -
— \/,=\3\/ /OO
4 \r&b U'[f\-'ﬂ | S— —
@? <\ /3
S :' '{ Py,
- \/ r"ﬁ! /1 p° cn "
[ ['/l
\/n Vc_!\ = “e ;L
A < N ~ Ao,
v TS
MLE"& b‘f 3{}# '/vﬁv\ \/
/ Vv Vbe

32



Alaebraic Calculation
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Line-To-Line Voltage (V_,) VS.
Phase Voltage (V,,)




Example 2.2
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Can you draw a circuit diagram for this example
guestion?
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Delta (A) Load
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Per-phase analysis
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Per-phase analysis with Delta (A) load - Convert to Y-load
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Cample 2.3 (P.28), The terotind Voltrge 6 &
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Draw a circuit diagram for this example
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Example 2.3
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Example 2.3 - Continued
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Y-load and A-load in parallel - Example
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Power In balanced 3-phase circuits
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Power In balanced 3-phase circuits
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-phase Instantaneous power ps,
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3-phase instantaneous power p5(t)
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-phase Instantaneous power p,(t
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